Q.P. Code :11824
[Time: Three Hours] [ Marks:100]
Please check whether you have got the right question paper.

N.B: 1. Attempt any four questions.
2. All questions carry equal marks.

Make a distinction between commodity terms of trade and income terms of trade. Which of the two
is better measures of gains from trade? Why should this measure be optimized and not maximized?

Show how factor price equalization emerges in the Heckscher- Ohlin model.
Examine the effects of different types of growth on county’s international trade.

What are the economic effects of an import quota? How do you compare with the effect of General
Tariff?

Explain the ‘static production and consumption effects’ of customs union. What are the effects of
customs union resulting in welfare loss?

Bring out clearly the rationale for foreign investment.

Write note on any two of the following.
a) Technological Gap-Model.
b) Rybczynski Theorem
¢) Optimum Tariff
d) Transfer Problem
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